+29. 4

+28.8

oo t—o—o—f_,

o——on

—22.4

33 34 35
46 47 48
= =
& 5
:1—_‘"‘ BB E Y A 372 = B &
@ 2562 K E &
LAk OERA
— B35 © 423 ETIEEAS
A FEE# &
r—- B 2573 (%7
1 EssmEs Sob
12.3 2 =
M e # B =
o 168 & BmEm
A | mEmEA Ko778 mre=s
e} E A £ el z B A
VAN H W A (5] # K B
A B BT = RE P S T
<> OB = WC N B ER
T B 5 ) AUV AR
® H OE B &l
XK AMER B w3 E P
T BB A L £ i
® HATEBBEHF L 2 &2 B
® HoO%E R 4 hvZ
® g o= = I % F A
X XE - BEMR < T3 5
v H OB B - & 5
) BT 1/~  brzueso
® L AEEF 0 TR (AR
%18 DX T (412
@) i S A PRI (BIEERD)
H i En i R
-y * B d e = #
+ FUARNHE @) 5 v D
% £2 1% il e ES
) WHE - REE (OFD=1 = #
® AEY - ARE iy B OB &
® ® M ® $t T a
® E @ K LB R AT
@ EXE I © i =
® ® @’ Ff m A =
i I = B - B O
g iR 1 db BER - HE
% E M A R oo BB
® F N - b ® g B 03
) = 3 ] P} &
" . W - T
X woOE B A
o3 T 15  ~ A
ke £ & A 7 =
— HiE B % TR B OE
T FE B OR - ® % 80 E
&l
———————— t 5 # ® H
C(BEP)  mRheomm | (GERT)  EaPO#
—  »E - SHEE TSYRNR—L
””””” EOUERE
N I D
& %W Om
= —;:F— % B B
— e e
—l T — EOSENE
—d— #wsEs
= o KmHO#BE
= RUEZF
T EROSENE
e e e —H— ¥ B &
I K
- - 5 =
P NI NN y
EnnncauuuuM AT RBE | E &
P £ B _——— # # 8
———r - F - BR — — — X7 - (T R
———— e — BT ARHORR  ——— -% B %
. O S S
EEHTHOER
I I Q O
M R #E FE
I & Q
Y ° F20Xi:10] i ih
A # K o
v o ” ih
; g ® o N 30 H
|=vE Voo, |BUE
¢ RAF ° %
v
o |TNE| o o B A Lo
¥ ) [ P T leun
IR e AT olE A

BA MR

% 18 K

10 20 30 40 50 100 1560 200m

0]
i
L

EREREFITRI4FELIRXRBEER

BOSTDODREICIDIBEIXERR
BERIBEBALODNILEE

MBCRRUICHBIERBELIERAMLRCLD
MBCRRUICHDERBERLFO X — KL EAL

ZREFEOSEFOA-—NILER
BCOEEQIRREOTYHEHE
FEROBMBMEZ2 X —HMIL

FEMRThERTH &T

|E8] [X

47



